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Roll No. ...................................  

DD–2003 

B. Com. (Part I) EXAMINATION, 2020 

(Group–I : Compulsory) 

Paper First 

FINANCIAL ACCOUNTING  

Time : Three Hours 

Maximum Marks : 75 

uksV uksV uksV uksV %%%%    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ¼v½ iqLrikyu ,oa ys[kkdeZ esa D;k vUrj gS \ 5 

What is the difference between Book-keeping and 

Accountancy ? 

¼c½ 20 vDVwcj] 2019 dks iznhi us lquhy ls Lo.kZ d.kZQwy 

ds 10 ntZu tksM+s ` 300 izfr tksM+s ds Hkko ls [kjhns] 

ftl ij 10% O;kikfjd NwV rFkk 10 fnu ds vanj 
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Hkqxrku djus ij 8% udn NwV fn, tkus dh O;oLFkk 

gSA 26 vDVwcj] 2019 dks iznhi us 20 tksM+s Lo.kZ d.kZQwyksa 

dks okil dj fn;k rFkk 29 vDVwcj] 2019 dks vius [kkrs 

ds iw.kZ ‘kks/kukFkZ /kukns’k HkstkA 

nksuksa i{kksa dh iqLrdksa esa tuZy ds ys[ks dhft, rFkk iznhi 
dh iqLrdksa esa lquhy dk [kkrk [kksfy,A 10 

On October 20, 2019 Pradeep purchase 10 doz pairs 

of golden ear-rings from Sunil @ ` 300 per pair, on 

which there is a provision of a trade discount of 10% 

and on payment within 10 days a cash discount of 

8%. On October 26, 2019 Pradeep returned 20 pairs 

of golden ear-rings and on October 29, 2019 he sent 

a cheque for full settlement of his account. 

Make Journal Entries in the books of both the parties 

and open Sunil’s Account in the books of Pradeep.   

vFkokvFkokvFkokvFkok    

(Or) 

iw¡thxr O;; vkSj vk;xr O;;ksa ls vki D;k le>rs gSa \ bldh 

vyx&vyx fo’ks”krk,¡ crkb,A bu nksuksa esa vUrj djuk D;ksa 

vko’;d gS \ 

What do you understand by Capital Expenditure and 

Revenue Expenditure ? Explain its various features. Why 

differentiation is necessary between two ? 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- fe- Hkxorh izlkn dh iqLrdksa ls 31 ekpZ] 2019 dks vxzkafdr 
‘ks”k fy, x, gSa % 
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 ` 

iw¡th  2,45,000 

vkgj.k 20,000 

lkekU; O;; 25,000 

Hkou 1,10,000 

e’khujh 93,400 

izkjfEHkd LVkWd 1,62,000 

dks;yk o ‘kfDr 22,400 

dj o chek 13,150 

etnwjh 72,000 

nsunkj 62,800 

ysunkj 25,000 

vigkj@cêk ¼MsfcV½ 5,500 

_.k 78,800 

foØ; 6,53,600 

Ø; 4,70,000 

eksVj&dkj 20,000 

Mwcr _.k vk;kstu 9,000 

deh’ku ¼ØsfMV½ 13,200 

dkj ds O;; 18,000 

ns; fcy 38,500 

udnh 800 

cSad vf/kfod”kZ 33,000 

nku 1,050 
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fuEufyf[kr lek;kstuksa ds ckn 31 ekpZ] 2019 dks lekIr gksus 
okys o”kZ ds fy, vafre ys[ks rS;kj dhft, % 
(i) ` 1,600 Mwcr _.k ds vifyf[kr dhft, ,oa nsunkjksa 

ij 5% Mwcr _.k ds fy, izko/kku dhft,A 
(ii)  e’khujh ij 10% vkSj eksVj&dkj ij 12% vo{k;.k dh 

x.kuk dhft,A 
(iii) ` 7]500 _.k ij C;kt nsuk ckdh gSA 

(iv) ` 2]500 izfro”kZ gLrkarfjr djds ,d nku dks”k vkjEHk djus 
dk fu’p; fd;k x;kA 

(v) dkj ds O;; rFkk kl dk 1@3 Lokeh ds [kkrs esa yxkuk gSA 

(vi) 31 ekpZ] 2019 dks ewY;kafdr LVkWd ` 2]35]000 gSA 

The following balances are extracted on 31st March, 2019 

from the books of Mr. Bhagwati Prasad : 

 ` 

Capital  2,45,000 

Drawings 20,000 

General Expenses 25,000 

Building 1,10,000 

Machinery 93,400 

Opening Stock 1,62,000 

Coal and Power 22,400 

Tax and Insurance 13,150 

Wages 72,000 

Debtors 62,800 

Creditors 25,000 

Discount (Dr.) 5,500 
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Loan 78,800 

Sales 6,53,600 

Purchases 4,70,000 

Motor Car 20,000 

Provision for Bad Debts 9,000 

Commission (Cr.) 13,200 

Car Expenses 18,000 

Bills Payable 38,500 

Cash 800 

Bank Overdraft 33,000 

Donation 1,050 

Prepare the Final Accounts for the year ending on 31st 

March, 2019 after taking into accounts the following 

adjustments : 

(i) Write-off ` 1,600 for Bad debts and make a 

provision for Bad Debts 5% on Debtors. 

(ii) Depreciate Machinery by 10% and Motor Car by 

12%. 

(iii) Interest of ` 7,500 is outstanding on Loan. 

(iv) It was decided to transfer ` 2,500 every year to 

Charity Fund. 

(v) 1/3 of car expenses and depreciation amount is to be 

transferred to owner’s account. 

(vi) Stock valued on 31st March, 2019 was ` 2,35,000. 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ lS)kfUrd v’kqf);ksa dks mnkgj.k lfgr le>kb,A 
Explain with example errors of principle. 

 [ 6 ] DD–2003 

 (A-2)  

¼c½ ,d O;kikjh dh ijh{kk lwph esa ` 1]500 dk varj ik;k 

x;k ftls fuyfEcr [kkrs esa Dr. dj fn;k x;kA 

rRi’pkr~ fuEufyf[kr =qfV;k¡ ikbZ xb±A la’kks/ku izfof”V;k¡ 

dhft, ,oa fuyfEcr [kkrk cukb, % 

(i) foØ; [kkrs dk ;ksx ` 800 ls de yxk;k x;kA 

(ii) ` 2]000 jkeizlkn dks fn;s fdUrq mlds [kkrs esa  

` 200 gh [krk, x,A 

(iii) euh”k dks nh xbZ migkj jkf’k ` 200 joh’k ds [kkrs 

esa MsfcV dh xbZA 

(iv) ` 2]500 ekfyd us futh mi;ksx gsrq fudkys tks 

;k=k O;; [kkrs esa MsfcV dj fn;s x,A 

(v) vpZuk ls izkIr ` 900 C;kt ds mlds [kkrs esa 

ØsfMV dj fn, x,A 

A trader found difference of ` 1,500 in his Trial 

Balance, which he debited to Suspense account. 

Afterward the following errors were found. Give 

correction entries and also prepare Suspense A/c : 

(i) The Sales account was undercasted by ` 800. 

(ii) ` 2,000 paid to Ramprasad was posted as ` 200 

in his account. 

(iii) Discount Allowed to Manish of ` 200, was 

wrongly debited to Ravish’s A/c. 

(iv) Proprietor withdrew ` 2,500 for personal use, 

was debited to Travelling Expenses A/c. 

(v) Interest Received from Archana ` 900 but was 

credited to her account. 
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bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- lsty fy- ds e’khujh [kkrs esa 1 vizSy] 2019 dks ` 40]500 dk 
‘ks”k FkkA kl 10% okf”kZd dh nj ls Øekxr kl fof/k }kjk 
yxk;k tkrk gSA 1 vDVwcj] 2019 dks dEiuh us ,d e’khu tks 
csdkj gks xbZ Fkh] ` 8]750 esa csp nh ftls 1 vizSy] 2017 dks  
` 12]500 esa Ø; fd;k x;k FkkA mlh fnu dEiuh us ` 25]000 
dh ,d u;h e’khu Ø; dhA 31 ekpZ] 2020 dks dEiuh ds 
lapkydksa us 1 vizSy] 2017 ls Øekxr kl i)fr ds LFkku ij 
LFkk;h fd’r i)fr viukus dk fu.kZ; fy;kA 
dEiuh dh iqLrdksa esa o”kZ 2019&20 dk e’khujh [kkrk [kksfy,A 
Sejal Ltd. has a balance of ` 40,500 on 1st April, 2019 in 

its machinery account. 10% p. a. depreciation was 

charged by diminishing balance method. On 1st October, 

2019 the company sold a machine as it is useless for  

` 8,750 which was purchased on 1st April, 2017 for  

` 12,500. On the same date the company purchased a new 

machine for ` 25,000. On 31st March, 2020 the directors 

of the company decided to adopt the fixed method of 

depreciation instead of diminishing method from 1st 

April, 2017. 

Open Machinery Account in the books of company for 

2019-20.  

vFkokvFkokvFkokvFkok    
(Or) 

izkfIr&Hkqxrku [kkrs rFkk vk;&O;; [kkrs esa D;k vUrj gS \ izkfIr 
,oa Hkqxrku [kkrs dks vk; ,oa O;; [kkrs esa fdl izdkj 
:ikUrfjr fd;k tkrk gS \ 
What are the differences between Receipts and Payments 

Account and Income and Expenditure Account ? How is 

Receipts and Payments Account converted into Income 

and Expenditure Account ? 
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bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- jeu us 1 vizSy] 2016 dks ,d dkj Hkwis’k ls fd’r Hkqxrku 
i)fr ij Ø; dhA dkj dk jksdM+ ewY; ` 4]00]000 Fkk vkSj 
C;kt 10% izfro”kZ yxk;k tkrk FkkA 
vafre fd’r dks NksM+dj izR;sd fd’r ` 1]20]000 dh Fkh tks 
fd 31 ekpZ] 2017] 2018 ,oa 2019 dks nh tkrh Fkh vkSj vfUre 
fd’r ` 1]48]720 dh Fkh tks fd 31 ekpZ] 2020 dks nh tkuh 

FkhA vo{k;.k ¼ kl½ 20% izfro”kZ Øekxr kl i)fr ls 
yxk;k tkrk gSA izR;sd fd’r esa ‘kkfey C;kt o jksd ewY; dh 
x.kuk dhft, rFkk jeu dh iqLrdksa esa vko’;d [kkrs [kksfy,A 

Raman purchased a car on 1st April, 2016 from Bhupesh 

on instalment payment system. The cash price of the car 

was ` 4,00,000 and interest charged at 10% p. a. 

The instalments to be paid were ` 1,20,000 each at the 

end of each year 31st March, 2017, 2018 and 2019 and 

last instalment is to be paid on 31st March, 2020 

` 1,48,720. Depreciation is to be charged @ 20% per 

annum on Diminishing Balance method. Calculate the 

amount of interest and cash price in each instalment and 

open the necessary Ledger Accounts in the books of 

Raman.  

vFkokvFkokvFkokvFkok    
(Or) 

fdjk;k Ø; i)fr ls lEifŸk dk foØ; djrs le; Øsrk rFkk 
foØsrk nksuksa i{kksa dh iqLrdksa eas dhs tkus okyh iath izfof”V;k¡ 
nhft,A 
Mention the entries necessary in the books of the buyer as 

well as the seller when goods are sold on hire-purchase 

system. 
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bdkbZbdkbZbdkbZbdkbZ&&&&5555    
(UNIT—5) 

5- X ] Y  rFkk Z   dk fpëk 31 ekpZ] 2019 dks fuEukafdr Fkk] 
tcfd mUgksaus lk>snkjh ds lekiu dk fu.kZ; fd;k % 

 `  ` 

ysunkj 2,000 lEifŸk;k¡ 49,000 

X dk _.k 5,000   

iw¡th [kkrs %   `    

     X      15,000    

    Y      18,000    

    Z        9,000 42,000   

 49,000  49,000 

lEifŸk;ksa ij fuEukafdr jkf’k fd’rksa esa olwy gqbZ % 
izFke fd’r ` 1]000] f}rh; fd’r ` 3]000] r`rh; fd’r 
` 3]900] prqFkZ fd’r ` 6]000] ik¡poha fd’r ` 20]000A 
;g ekudj fd mudk ykHkkYkkHk vuqikr 2 % 2 % 1 gS] jksdM+ ds 
va’kkuqlkj forj.k ds fy, ,d fooj.k i= cukb,A 
Following is the Balance Sheet of X, Y and Z on 31st 

March, 2019 when they decided to dissolve the 

partnership : 

 `  ` 

Creditors 2,000 Assets 49,000 

X’s loan 5,000   

Capital A/c :   `    

       X      15,000    

       Y      18,000    

       Z        9,000 42,000   

 49,000  49,000 
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The assets realised the following sums in instalments : 

First instalment ` 1,000, Second instalment ` 3,000, Third 

instalment ` 3,900; Fourth instalment ` 6]000 and Fifth 

instalment ` 20,000. 

Prepare a statement for piecemeal distribution of cash 

assuming that their profit sharing ratio is 2 : 2 : 1. 

vFkokvFkokvFkokvFkok    
(Or) 

A vkSj B us] tks vyx&vyx ,d ,dkdh O;kikjh ds :i esa 
O;kikj dj jgs FksA 1 vizSy] 2019 dks ,dhdj.k djus dk 
fu’p; fd;kA mDr frfFk dks muds fLFkfr fooj.k fuEu Fks % 

nkf;Ronkf;Ronkf;Ronkf;Ro    
A 

(`̀̀̀) 

B 

(`̀̀̀) 

ysunkj 19,200 16,800 

cSad vf/kfod”kZ 7,200 6,000 

iw¡th 33,600 14,400 

 60,000 37,200 

 

lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡lEifŸk;k¡    
A 

(`̀̀̀) 

B 

(`̀̀̀) 

e’khujh 12,000 7,200 

jgfr;k 9,600 6,000 

nsunkj 36,000 22,800 

jksdM+ 2,400 1,200 

 60,000 37,200 
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fuEufyf[kr lek;kstu djrs gq, lk>snkjh QeZ dh iqLrdksa esa 
tuZy ds vko’;d ys[ks dhft, rFkk mldk izkjfEHkd fpëk 
rS;kj dhft, % 

¼v½ [;kfr ds fy, A dks ` 14]400 ls rFkk B dks ` 4]800 
ls ØsfMV fd;k tk;sA 

¼c½ A ds nsunkjksa ij 5% rFkk B ds nsunkjksa ij 6% lafnX/k 
_.kksa ds fy, vk;kstu fd;k tk,A 

¼l½ nksuksa ds jgfr;k ds ewY; esa 5% deh dh tk;sA 
¼n½ A dh e’khujh dks 10% ls vkSj B dh e’khujh dks 

12.5% ls vifyf[kr fd;k tk,A 
A and B were doing business separately. On 1st April, 

2019 they decided to amalgamate their business. Balance 

Sheets of both were as follows on the date :  

Liabilities 
A 

(`̀̀̀) 

B 

(`̀̀̀) 

Creditors 19,200 16,800 

Bank Overdraft 7,200 6,000 

Capital 33,600 14,400 

 60,000 37,200 

 

 Assets 
A 

(`̀̀̀) 

B 

(`̀̀̀) 

Machinery 12,000 7,200 

Stock 9,600 6,000 

Debtors 36,000 22,800 

Cash 2,400 1,200 

 60,000 37,200 
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Pass the journal entries in the books of new firm after 

considering the following adustments and also prepare its 

Balance Sheet : 

(a) Goodwill is valued for A ` 14,400 and for B  

` 4,800. 

(b) Provision is made for doubtful debts @ 5% for A’s 

debtors and 6% for B’s debtors. 

(c) Stock of both are valued at 5% less. 

(d) Machinery of A @ 10% and of B @ 12.5% is 

written down. 
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